Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - Elgin City North

3,579

3

895

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Billy ADAMS	Independent	266
Frank BROWN	Scottish Conservative and Unionist	1,181
Sandy COOPER		532
Paula COY	Scottish National Party (SNP)	634
Patsy GOWANS	Scottish National Party (SNP)	537
Nick TAYLOR	Scottish Labour Party	429
	Total	2.570
	Total	3,579

Candidate Frank BROWN Elected with 1,181 votes, being in excess of the quota of 895

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Frank BROWN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Billy ADAMS	301	0.24216	72.89016
Transfer to Frank BROWN	0	0.00000	0.00000
Transfer to Sandy COOPER	305	0.24216	73.85880
Transfer to Paula COY	22	0.24216	5.32752
Transfer to Patsy GOWANS	11	0.24216	2.66376
Transfer to Nick TAYLOR	199	0.24216	48.18984
Value of non-transferable ballot papers			83.06992
	Total		286.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Billy ADAMS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Frank BROWN	0	0.00000	0.00000
Transfer to Sandy COOPER	150	0.24216	36.32400
Transfer to Sandy COOPER	125	1.00000	125.00000
Transfer to Paula COY	5	0.24216	1.21080
Transfer to Paula COY	31	1.00000	31.00000
Transfer to Patsy GOWANS	4	0.24216	0.96864
Transfer to Patsy GOWANS	16	1.00000	16.00000
Transfer to Nick TAYLOR	69	0.24216	16.70904
Transfer to Nick TAYLOR	42	1.00000	42.00000
Value of non-transferable ballot papers			69.67768
	Total		338.89016

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Nick TAYLOR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Billy ADAMS	0	0.00000	0.00000
Transfer to Frank BROWN	0	0.00000	0.00000
Transfer to Sandy COOPER	92	0.24216	22.27872
Transfer to Sandy COOPER	143	1.00000	143.00000
Transfer to Paula COY	9	0.24216	2.17944
Transfer to Paula COY	40	1.00000	40.00000
Transfer to Patsy GOWANS	3	0.24216	0.72648
Transfer to Patsy GOWANS	73	1.00000	73.00000
Value of non-transferable ballot papers			254.71424
	Total		535.89888

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Sandy COOPER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Billy ADAMS	0	0.00000	0.00000
Transfer to Frank BROWN	0	0.00000	0.00000
Transfer to Sandy COOPER	0	0.00000	0.00000
Transfer to Paula COY	60	0.00972	0.58320
Transfer to Paula COY	130	0.04017	5.22210
Transfer to Patsy GOWANS	19	0.00972	0.18468
Transfer to Patsy GOWANS	80	0.04017	3.21360
Transfer to Nick TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			28.25794
	Total		37.46152

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Patsy GOWANS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Billy ADAMS	0	0.00000	0.00000
Transfer to Frank BROWN	0	0.00000	0.00000
Transfer to Sandy COOPER	0	0.00000	0.00000
Transfer to Paula COY	18	0.00972	0.17496
Transfer to Paula COY	45	0.04017	1.80765
Transfer to Paula COY	2	0.24216	0.48432
Transfer to Paula COY	557	1.00000	557.00000
Transfer to Nick TAYLOR	0	0.00000	0.00000
Value of non-transferable ballot papers			74.29023
	Total		633.75716